It Sry (0l00=-LJ rog) (081 retss)
l:-I)JN i IIIN [ omm 2 |mr2+\ [LJT=T=TH usmmea»\

0%
=

[

) m
N

lor,
(=]

(DE0
\ Tim OI!IEFE\ NEIHEFE\ I)ED\ me MEN& 2 IH

HT-85

260

K

QILEAL 7HS 0l AH2 = LLE,
aH QA9
7 A yEac "7 ozxns s3 Lo 20 b D -
Chamfer (;m)_'_ (mm) | (mm) | (mm) | (mm) | (mm) | (mm)
QIME AU WERH - O|E| LIALS
A TICM26F5
A* TIC2.6F5
M2.6X0.45 j--eeeeeeeeeeesfeenenen e 3.185 1b 3 c
A TICM2.6F1
A* 1 TIC26F1
© | TICM3.0G5 75 | 17
e SP ,,,,,,,,,,,,,,,,,,,,,,,
L Or TIC3.0G5 ; § 13 21
M3x0.5 s e e I 1. 1 b | 52 ieeeeeeeesbeeeeend 5 4 7 3 c
) TICM3.0G1 : : 7.5 17
R 15P i e
O* | TIC3.0G1 13 21
© | TICM40I5 13 2
p,,,,,,,,,,,,,,,‘: ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP T A
[ O* | TIc401s 3 3 16 25
M4x0.7 fromeene b 4,909 b | 60 i 55 | 45 7 4 c
O 1 TICM4.0IT | | 13 22
S 15 L
O* | TIcaon 16 | 25
© | TICM5.0K5 15 | 26
R | 5P ,,,,,,,,,,,,,,,,,,,,,,,
. O* | TIC5.0K5 3 i 19 1 30
M5x0.8 s e e Y 1 1 b | 62 jeeeeeeeesfeeeeeend 6 45 7 4 c
i O TICM5.0K1 : : 15 26
e 15P § 0 e
©O* | TIC5.0K1 19 30
© | TICM6.OMS5 19
e SP ,,,,,,,,,,,,
PO TIC6.0M5 | | 2
M6x1 o e e I V1~ b | 70 - 6.2 5 8 4 e
PO TICM6.0M1 | | 19
R 5P 1
O* | TIC6.0M1 22
© | TICM8.ONS5 23
e e mcccdececccmcccccemcaccecmeeaceeeaed SP ,,,,,,,,,,,,
O TIC8.0N5 24
MBX1.25 feeeeeeeeeeeeeeesdeeeee 9.624 b 75 - 7 5.5 8 4 e
@) TICM8.0N1 23
s e 15 0 e
©O* | TIC8.0N1 24
© | TICM01005 26
R | 5P ,,,,,,,,,,,,
o* TICO1005 29
MI10X1.5  deeeeeeeeeeeemeesd e 11.948 b | 82 - 85 | 65 9 4 e
© TICM01001 26
. 15 e
©* | TIC01001 29
A | TICMO10N5 26
.,,,,,,,,,,,,,,,,i ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP ,,,,,,,,,,,,
VAN TICOT0N5 29
M10X1.25 feeeeeeeeeeeeeeendeeee e 11.624 b | 82 - 85 65 9 4 e
A TICMO10N1 26
e 15P L
A¥*  TICO10N1 29
A TICMO10MS5 ; ; 2%
M10x1 e e I~ 11299 1b | 82 e - 85 65 9 4 e
. A* | TICO10M5 | 29
X I 2 EA AZS 17t SAXISHE MY S2IE ULt
Think threads with
YAMAWA 0= A2 QEE O= QEE A= EHZEE (AFWME)



X YAL 7|2 XIE -81 BY THE AESHIAIQ |
XN 52 Ut Gl TS0l AYS HMHY & USLICH
STI-HT  9ME ZUE WHE |
AlEt Q9
>4 3 A C T =0 L y) y) D K D TA Ab
A M 423 Chamfer 7|$:|)¢ S2 (o) | (om) | (o) | (om) | (o) | () | ST B
A TICMO10M1 ‘ ; 26
M10XT et 1.5P 11299 © 1b 82 e - 85 | 65 9 4 e
N* TICOTOM1 | 29
© TICMO12P5 95 26 125 1 10 13
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, Sp
O* TICO12P5 90 30 10.5 8 11
MI12X1.75 oo 14.273 L] T B e 4 e
© TICMO12P1 95 26 125 | 10 13
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 'ISP [ S| | SR S |
O* TICO12P1 90 30 10.5 8 11
A TICM01205
VAN TIC01205 3 3 |
M12x1.5 et 13948 | 1b 88 - 105 8 11 4 e
A TICMO01201 | | |
AN TIC01201
TICMO12N5 26
TICO12N5 30 |
M12X1.25 foooeoesoemeoeosbe oo 13.624 1b 88 - - 105 8 11 4 e
A TICMO12N1 26 | |
N\* TICO12N1 30
A TICM014Q5 100 | 33 14 11 14
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP
A* TICO14Q5 95 32 13 10 13
MT4X2 e 16.598 L] T B s et 4 e
AN TICM014Q1 100 | 33 14 11 14
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ‘LSP [ S| | SR S |
VAN TIC014Q1 95 32 13 10 13
AN TICM01405 26
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP [N
/¥ TICO1405 32
M14XT.5 b 15.948 1b 95 i - 125 | 10 13 4 e
AN TICM01401 26
—————————————————————————————————————————————————— 1.5P
A\* TIC01401 32
O TICMO016Q5 33 15 12 15
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP
O* TICO16Q5 37 14 11 14
MT6X2 e 18.598 1b 105 --eoeeeed B e 4 e
O TICM016Q1 33 15 12 15
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ’|5P | —— L
O TICO16Q1 37 14 11 14
AN TICMO01605 33
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP L
A* TIC01605 37
M16X1.5 oo 17.948 1b 100 oo - 14 11 14 4 e
AN TICM01601 33
—————————————————————————————————————————————————— 1.5P
VAN TIC01601 37
VAN TICMO18R5 33
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 5P
A* TICO18R5 38
MI18X2.5 b 21.248 1b 115 e - 17 13 16 4 e
JAN TICMO18R1 33
—————————————————————————————————————————————————— 1.5P
/\* TICO18R1 38
A TICM01805 33
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP
N* TICO1805 37
MI8XT.5 oo 19.948 1b 105 o-eeeeeed - 15 12 15 4 e
A TICM01801 33
—————————————————————————————————————————————————— 1.5P
AN TICO1801 37
O TICMO20R5 39
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 5P L
O* TICO20R5 45
M20X2.5 e 23.248 1b 120 oot - 19 15 18 4 e
O TICMO20R1 39
—————————————————————————————————————————————————— 1.5P
O* TICO20R1 45

X 2 * BA YE2 DIt ROIXI=HE B S2IHEUC

Think threads with

YAMAWA

s/

- 12
=]

7 (OKog:
1> IE 1l

-] 124
[4=1=]

) Tm oXl¥ Sry O Mk OE OMFM IE IMr2kd (oloo2:
=] 02 2=C 4 0E Nl

(HE0bOrE!
E IHS

/ IleOl!IErE/ rIII!IHI.".'rE/ I)EE/ my mmmg/ ;

HT-86

261



['-1]
=

HT-87

262

It Sry (0l00=-LJ rog) (081 retss)
E-I)JN i N‘}N [ omm 2 Imrﬂ*\ [LJT=T=TH usmmee»\

H) m
=] I

lor,
(=]

(DE0
\ Tim OEIEFE\ IUEIHIEE\ I)El;\ me MEN& 2 IH

STI-HT 9ME U8 WC &
Al QZ9
7 )] yE3C T yz=xa sa Lo 2 L Do Ko B ga
Chamfer (‘r_nm)-r (mm) | (mm) | (mm) | (mm) | (mm) | (mm)
A TICM02005 33
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 5P
AN TIC02005 38
M20xX1.5 oo 21.948 1b 115 Geeeeeeesd - 17 13 16 4 e
AN TICM02001 33
—————————————————————————————————————————————————— 1.5P
AN TIC02001 38
AN TICMO22R5 39 19
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP F F
AN TICO22R5 45 20
M22x2,5 e 25.248 1b 125 Geeeeeees S 15 18 4 e
AN TICMO22R1 39 19
—————————————————————————————————————————————————— 1.5P
VAN TICO22R1 45 20
A TICM02205 39
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 5P [
/\* TIC02205 45
M22x1.5  beeeeeeeeeeeesdeeeeese e 23.948 1b 120 Goeeeeeeeet - 19 15 18 4 e
AN TICM02201 39
————————————————————————————— 1.5P
/\* TIC02201 45
O TICM024S5 135 | 46 23
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP
O TIC024S5 130 | 45 21
M24x3 e 27.897 1] S SRR ST R 17 20 4 e
O TICMO02451 135 | 46 23
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ’|5P S bommmmmeeey
O* TIC02451 130 | 45 21
/A TICM02405 130 | 39
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP e
AN TIC02405 125 45
M24x1.5 e 25.948 b b b - 20 15 18 4 e
/A1 TICM02401 130 | 39
! 15P 1 e
A* 1 TIC02401 125 | 45
AME AYL HE ¥ - QL|IO]
Alg Q|A9|
RES H yEac T ozns s3 L Lo Do Ko b ga gy
Chamfer (;m)-'- (mm) | (mm) | (mm) | (mm) | (mm) | (mm)
A TICMUN4H5 11 17
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 5P
/\* TICUN4H5 13 21
NO.A-QOUNC  -ooeeemmmmmsdom s 3.670 1b 52 ieeeeeesieeeeoead 5 4 7 3 c
A TICMUN4H1 11 17
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ‘|5P O 1
AN TICUN4H1 13 21
A TICMUNA4F5 5P
NO.4-48UNF 1o 3.532 1b 52 11 17 5 4 7 3 c
A TICMUN4F1 1.5P
AN TICMUNS5H5 11 17
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP R S
¥ TICUN5H5 13 21
NO.5-GOUNC f-ooroeemmmdoe 4.000 1b 52 ieeeeeeesioeeaeeed 5 4 7 3 c
AN TICMUN5H1 1 17
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 1.5P R S
/\* TICUN5H1 13 21
AN TICMUNG6J5 13 22
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP
/A\* TICUN6J5 16 25
NO.6-32UNC  boormemmmsmmdem s 4536 1b 60  -oeeeeeesieseeneead 55 45 7 3 c
AN TICMUNGJ1 13 22
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 'ISP O 1
/\* TICUN6J1 16 25
AN TICMUNG6H5 13 22
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 5P
AN TICUNGH5 16 25
NO.6-GOUNF 1o 4330 1b L 55 45 7 3 c
AN TICMUNGH1 13 22
—————————————————————————————————————————————————— 1.5P
yANS TICUN6H1 16 25
No.8-32UNC L /A TICMUN8J5 5P 5.197 1b 62 15 26 6 4.5 7 4 c
XTI 2+ EA| A4S XD} QoK SR T Z2IHELCH,
Think threads with
YAMAWA 0= 22 QEE 0= QEE A= EYUZFEE (2T HMT)




X YA 714 X2 -81 DY EHE AEOHINQ
X i S2 28 D0l AYS HMBY & YELL
STI-HT 9AME I8 MC &
Nm | 97
>4 3 A C T =0 L y) y) D. K D TA Ab
A M d=3E Chamfer 7|$:|)¢ S2 (o) | (om) | (o) | (om) | (o) | () | ST B
A* | TICUN8JS Losp 60 | 16 55
No.8-32UNC A TICMUNSJ1 5.197 1b 62 15 26 | 6 | 45 | 7 4 c
e 15 T
A* | TICUNBJT | 60 | 16 55
A | TICMUNSIS L sp
No.8-36UNF R . 5.083 b 62 95 | 26 6 | 45 7 4 ¢
A TICMUNSIT - 15P
A | TICMUNAMS
e ccceccccccccabecccccacccccccccccccccaaanaaaad SP
AF TICUNAMS
NO.TO-24UNC | oob b 6.201 b 62 6 | 45 7 4 c
TICMUNAM1
1.5P
TICUNAMT
A TICMUNAJS
A* TICUNAJ5
NOTO-32UNF oo 5.857 1b 62 6 | 45 7 4 c
A TICMUNAJT
YANS TICUNAJ1
A | TICMUNCMS 19 6.2
: sp -
A* i TICUNCMS5 22 N
NOT2-2AUNC oo 6.861 b 70 o - 5 8 4 e
A | TICMUNCM1 19 6.2
.,”,”,””,””;. ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ‘ISP ,,,,,,,,,,,,,,,,,,,,,,,,
A* | TICUNCMT 2 6.1
A | TICMU04NS 19 6.2
OSSOSO sp T
AN TICUO4N5 22 6.1
A-20UNC b 8.000 1b 70 o S S 5 8 4 e
A TICMUO4NT 19 6.2
R S 111 S N S SO
A* | TICUO4NT 22 6.1
A TICMUO4KS 19 6.2
R SRR R | 5P ,,,,,,,,,,,,,,,,,,,,,,,,
N TICUO4K5 22 6.1
VA-28UNF b 7.528 1b 70 o . 5 8 4 e
A TICMU04K1 19 6.2
e 5P e
A* 1 TICU0AKT 22 6.1
A TICMU0505 75 | 23 7 | 55 8
S | SP rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr
A TICU0505 80 | 25 8 6 9
5/16-T8UNC i ooob 9.771 11 T e S e 4 e
A TICMU0501 75 | 23 7 |55 8
. -1 e e PR
A* i TICU0501 80 25 8 6 9
A TICMUO5MS 23
S spoo T
A* TICUO5MS 24
5/16-2AUNF b 9313 b 75 b - 7 55 8 4 e
A TICMUO5M1 23
N S -1 S S
A* 1 TICUOSMI 24
A TICMUO6PS 82 | 26 85 65 | 9
S | SP rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr
A* TICUO6PS 85 | 29 9 7 10
3/B-16UNC b 11.587 b e 4 e
A TICMUO6P1 82 | 26 85 65 9
,””””””””} rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr ’ISP rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr
A* 1 TICUO6PT 85 29 9 7 10
A TICMUO6MS 82 | 26 85 65
,””””””””} rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr SP rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr
A TICUO6MS 80 | 25 8 6
3/8-2UNF b 10.900 Tb ot - 9 4 e
A TICMUO6M1 82 | 26 85 65
S 17 SO S SO S
A¥* 1 TICUOBM1 80 25 8 6
7/16-14UNC A | TICMU07Q5 5P 13.469 1b 88 | 26 - 105 8 | M 4 e

X 2 * BA YE2 DIt ROIXI=HE B S2IHEUC

Think threads with

YAMAWA

s/

- 12
=]

7 (OKog:
1> IE 1l

-] 124
[4=1=]

) Tm oXl¥ Sry I A OE OMFM IE IMr2kd (oloo2:
02 2=C 4 0E Nl

H)
=]

(O,
E IHS

/ IleOl!IErE/ rIII!IHI.".'rE/ I)QE/ my m“.EIH!/ ;

HT-88

263



It Sry (0l00=-LJ rog) (081 retss)
l:-I)JN i IIIN [ omm 2 |mr2+\ [LJT=T=TH usmmea»\

0%
=

[

) m
N

lor,
(=]

(DE0
\ Tim OI!IEFE\ NEIHEFE\ I)ED\ me MEN& 2 IH

HT-89

264

STI-HT  9ME 3248 MC &
Mg E9
7 )] yE3C T yz=xa sa Lo 2 L Do Ko B ga
Chamfer (‘r_nm)-r (mm) | (mm) | (mm) | (mm) | (mm) | (mm)
A* | TICU07Q5 sp 9 = 30
7/16-14UNC A TICMU07Q1 13.469 b 88 | 26 - 105 0 8 1 4 e
—————————————————————————————————————————————————— 1.5P s s
I\ TICUO7Q1 90 | 30 | |
A TICMUO7N5 88 | 26 L1058 11
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP e e
A* TICUO7N5 85 | 29 9 7 10
TI6-20UNF oot 12.762 b SRR OSSR SRS S 4 e
A TICMUO7N1 88 | 26 105 8 1
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ‘I.SP [P SRR [PPSR U RS PP |
\* TICUO7N1 85 | 29 9 7 10
A TICMUOSRS 26
,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP SR
AN, TICUO8RS 32
V2-13UNC 15.238 1b 95 e - 4 e
A TICMUOSR1 26
rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr 1.5P
N TICUOSR1 32
A TICMUOSN5 95 | 26 125 0 10 | 13
rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr SP | SR | R SR
N TICUOSNS 9 | 30 05 8 | 1
12-20UNF 14.350 b SR OSSR SRS S 4 e
N TICMUOSNT 95 | 26 125 0 10 | 13
rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr ’ISP S R St
N TICUOSN1 9 | 30 05 8 | 1
A TICMU10U5 33 15 12 15
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP F e
/¥ TICU10US 37 4 11 14
5/8-TTUNC ot 18.875 1b 105 SRR OSSR SSRGS S 4 e
A TICMU10U1 33 15 12 15
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ‘I'SP [P [PPSR U RS PP |
s TICUTOUT 37 4 11 14
A TICMU1005 100 = 33
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP | SRR |
AF TICU1005 105 | 37
5/8-T8UNF b 17.708 b - 4 1 14 4 e
A TICMU1001 100 @ 33
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ‘ISP R
NF TICU1001 105 | 37
A TICMU12P5 33
rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr SP | S
A* TICU12P5 38
3/4-16UNF 21.112 b 115 - 17 13 16 4 e
A TICMU12P1 33
—————————————————————————————————————————————————— 1.5P
PA* L TICUT2PT 38
X W 2+ EA| AZS W0t YOIXIEIHE TY S2orEUL
Think threads with
YAMAWA ©=HIQEE O= QEE A= SHIRE (43 YME)




	STI-HT  인서트 코일용 핸드탭_1
	STI-HT  인서트 코일용 핸드탭_2
	STI-HT  인서트 코일용 핸드탭_3
	STI-HT  인서트 코일용 핸드탭_4
	STI-HT  인서트 코일용 핸드탭_5

